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SECTION A (40 marks) 

1. Write the following acronyms in full
(2 marks)

(a) ROM
(b) RAM 
(c) EBCDIC

(d) CMOS

2. Explain two types of errors that are likely to exist in a program
(2 marks)

3. (a) What do you understand by the term biometric authentication
(1 mark)

(b)Give two examples of such authentication
(2 marks)
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4. A Chief Executive Officer of a company opted to order for computers for his organization. Two Companies wished to win the contract of the supplying the computers. Company A computers had the following Specifications: 120 GB HDD, 3 GB RAM, 2.1 GHZ CPU. Company B had the following specifications: 240 MB HDD, 6 MB RAM, 4.2 KHZ CPU. The two companies offer the same price for the computers.

a) Which should be granted the supply contract?
(1marks)

b) State three reasons for making the decision on the company to win the contract in (a)

above
(3 marks)

5. Differentiate between merging cells and splitting cell in a table when using word processors (1mark)

6. The following computer components were displayed to form 1 computer students during a practical lesson.
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Figure 1
Figure 2

a) Identify the components in Figure 1 and Figure 2 above.
(2 marks)

b) Explain how each of the components identified influence on the capability of a computer.

(2marks)

7. List four examples of web browsers
(2 marks)

8. Differentiate between working storage and auxiliary storage
(2 marks)

9. Figure 3 below shows a removable storage media. Use it to answer the questions that follow.


a) Identify the storage media above
(1 marks)

b) Explain two disadvantages of using the storage media above
(2 marks)

10. One of the ways of managing disks is through scanning for viruses

a. What do you understand by the term virus in this context
(1 mark)

b. Highlight three characteristics a computers that has been infected by a virus(3marks)

c. State two functions an anti-virus program
(1 marks)

11. The following worksheet represents the no of stems of various types of flowers exported in Ken Flower Ltd.

	
	A
	B
	C
	D
	E

	1
	Month
	Roses
	Lilies
	Scab
	

	2
	Jan
	70
	80
	65
	

	3
	Feb
	120
	62
	75
	

	4
	Mar
	110
	65
	45
	

	5
	Apr
	70
	45
	60
	

	6
	
	
	
	
	


The cost of each stem from the farmer is Kshs 25. This amount is typed in cell B10.

(a) Write a function that will calculate the total number of stems of all the types of flowers in

all months
(2 marks)

(b) Write a formula that can be typed in cell E2 and then be copied down to obtain monthly purchases for Roses.
(2 marks)

(c) Identify the data ty pe in cell C1 and cell D3.
(1 marks)

12. Name the two types of coaxial cables
(1 mark)

13. List four internet protocols
(2 marks)

14. Use figures below to answers the questions that follow
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Figure 4
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Figure 5

a) Identify the network topologies in Figure 4 and Figure 5 above
(1 mark)

b) Explain why it is beneficial to use the topology in Figure 4 above
(1 mark)

15. Differentiate between Optical Scanners and Magnetic ink scanners    (2 mark)

SECTION B (60 marks)

Answer question 16 and any other THREE questions from this section in the spaces provided.

16. a) State the THREE basic types of program control structures. (3 marks)

b) Draw a flowchart which will simulate the processing of Student's report. The simulation should be such that the user repeatedly inputs marks per subject for eight subjects using a looping control structure. The computer processes the total marks and mean score of the student.

Note. 1. It is assumed that the student does eight subjects.

2. The outputs required are; Average score and Total marks. (7 marks)


c) Construct a pseudo code for the above flowchart.
(5 marks)

17 a) Distinguish between the following types of database models.
(6 Marks)

i) Network database:

ii) Relational database:

iii) Hierarchical database:

(b) Explain the following terms as used in system implementation
(4 Marks)

   (i) parallel running

  ii) Direct change over

(c) i) make a clear difference between log file and firewall.
(2Marks)

ii) State three control measures which can be put in place to control threat to data security
(3Marks)

18. (a) Differentiate between a Modem and a multiplexer
(2mks)

(b) List FOUR file organization methods
(2mks)

(c) Name and explain three levels of programming languages.
(4mks)

(d) What are the characteristics of a user-friendly program?
(3mks)

(e) What is the work of a system analyst
(1 mk)

(e) Name data types supported by a spreadsheet and give four examples of a spread sheet

Software
(3mks)

19. a) (i) Give the name of the communication media depicted in the diagram below. 
(l mark)
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(ii) Give names to the parts indicated by A,B,C, and D. (4mks)

A


B


C


D


(iii) List three advantages of the communication media above.
(3mks)

b) Explain the three major types of computer networks.
(3mks)

c) Explain the purpose of the following on a network.
(4mks)

i) A hub

ii) A switch

20. ( a)(i) What is the hexadecimal equivalent of 6768
(2 Marks)

(ii) Use one’s compliment to solve the following sum: - 12+25
(2 Marks)

(iii) Convert 34.17510 to its binary equivalent.
(2 Marks)

(c) Find the difference in the following binary numbers;
(4 marks)

(i) 111011-10001

(ii) 100011.101-1001.10
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(b) Using eight bits find the two’s complement representation of -2710	(5 marks)
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